
Moving from Point to Point by Vector on
the Cartesian Grid

Starting at 'A' and moving by
(2,-3) will land on what point?
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Starting at 'A' and moving by
(0,4) will land on what point?
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Starting at 'A' and moving by
(-4,5) will land on what point?
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Starting at 'A' and moving by
(1,1) will land on what point?
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Starting at 'A' and moving by
(0,4) will land on what point?
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Starting at 'A' and moving by
(2,0) will land on what point?
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Starting at 'A' and moving by
(-2,4) will land on what point?
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Starting at 'A' and moving by
(4,4) will land on what point?
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